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UNIVERSITY OF NORTH BENGAL

B.A. Programme 2nd Semester Examination, 2021

DSC2-PHILOSOPHY

WESTERN LOGIC
Full Marks: 60

ASSIGNMENT

The questions are of equal value.
The figures in the margin indicate full marks.

Prepare Assignments on any three of the following within 800 words each 20x3 =60
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1. (a) Classify propositions according to quality, quantity and quality and quantity 10

taken together. Give examples of each.
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(b) Explain ‘distribution of terms’ and show which terms are distributed in A, E, 10
I, O propositions with example.
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2. (a) Distinguish between mediate and immediate inference with examples. 6
TRIZZETE AT 8 S SR T AL (walhs |
(b) Explain different rules of Conversion with examples. 8
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(c) Distinguish between simple conversion and conversion by limitation with 6
examples.
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3. (a) Use truth tables to determine the following statement forms as tautology, self- 5+5=10
contradictory or contingent:
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() (p=~q)=(~p=q)
(i) (p~q)v(p-q)
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(b) Use truth tables to determine the validity of the following arguments:
o MR FElie Fewln et Ko w9

(i) No Republicans are Democrats, so some Democrats are wealthy men,
since some wealthy men are not Republicans
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(i) (pvq)-(~p-q)
(pvq) = (p-~q)

4. Explain traditional square of opposition of proposition with examples.
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5. (a) Transform the following arguments into standard form and test their validity
by means of Venn diagram:
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(1) Some children are not considerate, since all children are egoist and no
egoist are considerate.
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(ii) EAO-2" figure
EAO-TGoiy 7=«

(b) Transform the following into standard form and prove the validity by means
of syllogistic rule:
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(ii) OAO-1* figure
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6. Define analogical argument. Describe the different criteria for the appraisal of
analogical argument.
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5+5=10
20
5+5=10
5+5=10
5+15=20



